











Jill has 5 cups of chocolate
chips. She divides the
chocolate chips into 1/3
cup servings. How many
servings does she have?

Zoe had 1/9 of a pound of
sugar. She split the sugar
equally into 4 bowls. What
fraction of a pound of sugar
was in each bowl?

Brock had 1/3 of a pizza.
He split the pizza into 7
equal pieces. What
fraction of a pizza was
each piece?

Brad has a board that is 8
feet long. He cuts the board
into pieces that are 1/3 of a
foot long. How many pieces
does Brad have?




